CV3

VLT
V1
V2

VL1-L

V2-L

REX

120CV3

1201VL
1207V1
1201V2
120LVL

120LV2

BEH A 2024/2/8

(=g =}

INTINAR

tBHH{ﬂﬁ*kiE

20094 1R

NERICER RO LS RBITVET, SRR XX N 5
OHEEKRRICKYEELFEERELHYET , TOHIT T RIS,
EEHOTHEDRL. BFYDOREXEEEMRASHNEHE TS,

CVXé
CVXé
Cve

VO
V4
V3

VO-L

V1-L

V3-L

i

EP/Y
120CVX | 1, FI—VINMRRYUR CVX6MCHI
120CVX | 2, FI—VINMRRYUK CVX6MCi
120CV6 | 2, FT—VILZ CV3-CV6
120CVL | 3, NARRIUR
1201V0 | 4, IS4 FIR4Z VL1-VO
1201v4 | 5, IMMFINAR V1-V4
1201v3 | 6, INMMTINARA V2-V3
120Lvo | 7, ISMMTINAA VLT—-L-VO—-L
120Lv1 | 8, INMTINMA V11—
120Lv3 | 9, I\ TFINA A V2—-L-V3—L




FI—2INARRAE CVX6 MCH EIHE  2024/2/8
1 R—RER

X% | BRES m & e | {ZHEER W =
1 VS40 [R—X 1 31,190
2 VS02 |[Fz—V FI—vb Uit 1 11,550
3 VS03 [/R1zig 1 10,400 HHAH T —VT03
4 VS04 [#EYrl 1 3,820
5 VS05 [#EHfTIFRILA 1 4510
6 VS06 [/\vRIL 1 4,390
7 VS07 |B—5 1 700
8 VS08 |[Zvoik 1 360
9 VSi15 |[B—3Fy 1 360
10 VS19 [E£ 1 150
11 VS25 |4 THR—IRILE 1 2,310
12 EAEY (5% 35) 1 150
13 WL89 |RTULITEY (8 x55) 1 150
14 WO085 [ARAIUFARILE (M8 x 40) 2 150
15 WO6E |7/ IUTARILE (M6 x 15) 2 150
16 EEE (8) 2 150
17 | WI1C |FES (6) 2 150
18 WG08 |IEHafEs (8) 2 150
19 WG06 [[XHaES (6) 2 150
20 9A68 [;FESNIL 1 360




FI—2INfARFER CVX6 MCHI BEEHA  2024/2/8
2.Ft &R

X% | HRES & e | EEHM ]
1 VS09 |kLA(A) 3 2,780
2 VS10 |kLA(8) 1 4,160
3 VS11 |rLAL % Tk 3 360
4 VS41 |BI(A) 2 4,160
5 VS42 |RI(B) 1 4,160
6 VS27 |iEYiE&HT L 3 360
7 VS28 |k AHR—k 1 930
8 VS29 |Mi#ERF—> 1 360
9 VS30 |isERTvY 1 150
10 VS31 |RsERYS 2 150
11 VS16 |k AHYR—bHS5— 1 240
12 W100 |/<"AERILE (M10 % 20) 1 150
13 W101 |REARILLE (M10 % 30) 1 150
14 W105 |/<RARILE (M10 % 50) 3 150
15 W107 |/REARILE (M10x 75) 3 150
16 WC10 |/RAFvb (M10) 5 150
17 WE10 [UFvk (M10) 3 150
18 SEEEE (M10) 7 150
19 WG10 |[EhES (M10) 4 150




FI—2INfARAIEF CVX6 MC# CEid= 2024/2/8
1.R—ER

Dbt gy _/ Y “’/), {
L . \ . : 5\ o <) L/ //v
S ST T X R oo
o7 1 s R ‘
@ / a | \ @ @
(s % N
X% | HRES wm A HE | BB 5
1 VT40 [R—Z 1 51,210
2 VT02 |Fz—V FIVE VAt 1 5,740
3 VT03 [/N\ARiE 1 7,170
4 VT04 [ZEYAl 1 1,720
5 VT05 [ fIFHRILE 1 3,730
6 VT06 [/\>RIL 1 3,880
7 VT07 |[A—5 1 520
8 VT08 |Jv4ik 1 620
9 VT15 |B—3E> 1 210
10 VT19 |E& 1 290
11 VT25 |/84THR—kRILE 1 2,310
12 WL56 |[RTULTEY (5 % 30) 1 150
13 WL89 |RTYLTEY (8 x 55) 1 150
14 W085 [AEFUFRILE (M8 % 40) 2 150
15 WA27 |ARARFRIVAKRILE (M6 % 15) 2 150
16 TRES (8) 2 150
17 | WIe1C |FRES (6) 2 150
18 | WG08 |[FHhaEs (8) 2 150
19 WG06 |IFtafEs (6) 2 150
20 9A68 [FEINIL 1 360




FI—2INfARBK CVX6 MCH#
2 B &R

X y=!

2024/2/8

X% | HRES R e | EEHM 5
1 @VT09 LA (A)| 3
2 | VT09S |[FL Ao ¥ TREyE @VTI0 kL A(S) | 1 15,530 Ty MEfE
3 @VTH bLALvTR| 3
4 VT41 |BI(A) 2 7,090
5 VT42 |RI(B) 1 7,090
6 VT27 |;gYiEHT L 3 490
7 VT28 |kLAHR—b 1 1,470
8 @®VT29 filfERFr—> | 1
9 | VT29S [fMEERE Yk @VT30 EEER Y| 1 860 Ty M
10 OVT31 fiEERY S| 2
11 VT16 |kFLAHYR—bHS5— 1 240
12 W100 |/<"AERILE (M10 % 20) 1 150
13 W101 |REARILLE (M10 % 30) 1 150
14 W105 |/RARILE (M10 % 50) 3 150
15 W108 |/REARILE (M10 x 80) 3 150
16 WC10 |/RAFvb (M10) 5 150
17 WE10 [UFvk (M10) 3 150
18 FES (M10) 7 150
19 WG10 |[EhfES (M10) 4 150




FI—2/NfRX CV3 CV6

CEy=!

2024/2/8

CV3 B chiE 2004458

HE | HnES &R HE | BERM W =

1 V501 [/SARKIK 1 20,220 HERRT

2 V511 |J—DFz—V (25R) 1 8,090

3 V531  |[HEfd4al 1 3,820

4 V511 Fz—2AEY 1 420

5 V532 |fEfteHtal 1 4510

6 VS06 |/\URIL 1 4,390

7 WL57 |RTVH5EY (5 % 35) 1 150

8 G029 |p—3 1 700

9 G051 |p—3>F> 1 210

10 V561 [/ RiE 1 9,010

11 WG06 |[EHafER (6) 2 150

12 W065 |/REFUTERILE (M6 x 30) 2 150

13 W121 |RERILE (M12 % 55) 3 150

14 WC12 |RAFvE (M12) 3 150

CV6

NE | HnES R = | EERM L

1 V502 |[/84RAIE 1 21,950

2 V513 [U—D0Fz—> (38R) 1 11,550

3 V631 |ffttal 1 3,820

4 V513 FT—VRAEY 1 420

5 V532 |#ftsHtal 1 4510

6 VS06 [/\URIL 1 4,390

7 WL57 |[RTULTEY (5 % 35) 1 150

8 5074 |O—5 1 700

9 9027 |A—3F> 1 210

10 V562 |\ RiE 1 9,710

11 WG08 |[ZhEES (8) 2 150

12 WOSF |/"AuFERILE (M8 x 30) 2 150

13 W121 |RARILLE (M12 x 55) 3 150

14 WC12 |ARAFvh (M12) 3 150




INAARARBZIVR
(Ccv3.CcV6.,. VO~V4A)

EHH

2024/2/8

X% | HRES &h e | ZHEE 5

1 V551 [R—x 1 30,030
2 V553 |l 3 4,620
3 WC10 |RAF vk (M10) 3 150
4 WG10 [IEHhESR (10) 3 150
5 W104 [ARERILE (M10 X 65) 6 150
6 V552 |=ft 1 17,330
7 WE10 [UFwhk (M10) 6 150

V554 |[INARRBUKSN— 1 1,390




INMTINALR HA 2024/2/8
VL1,.VO




INATINM A VL1,.VO EHHA  2024/2/8
VL1
HE|HRES 2 e | ZHEEM W =
1 @DV101L FL—LFR
2 VL10S |[ZL—L&TyHtyk (F) @VLOT 794 1z 6,510
3 @VLI1 $&
4 VLO1 [R—X 1 13,860
5 | VLO5S |/\RLtEvk 1 4,980 +toARl., NUR)IL, BRkitE
6 VLO6S |HAK#H (25148) 148 2,780 VLO6: 2{#
7 W182 |HAFETRANARILE (M8 X 25) 2 150
8 WC08 |HARENMAAAT VL (M8) 2 150
9 VLO3 |k & 1 2,080
10 VL04 [T th 2 2,080
11 W263 |[ETWEfMTRAGN/NMIL  (M6Xx16) 6 150
12 | WG06 |[EtaES (6) 4 150
13 JL—LEFTRANRARILE (M8 X 35) 1 150
14 WCO08 [T vk (M8) 1 150
15 | VL13S |# — = 1= | 18,480
16 VL18 [#&(B) 1 1,050
17 VL19 |#£(C) 1 1,050
18 VL16 [2—2i\wi)L 2 1,390
19 W104 |RIERfH FRARILE (M10 % 65) 3 150
20 | WG10 |(FHaES (10) 3 150
21 WC10 [RAFvE (M10) 3 150
VO
X% | HRES £ e | ZHEEM wm =
1 DV001 IL—-LE
2 | V000S |ZL—L&IvItyk () @V003 Jvy 1= 5,460
3 BVo11 $&
4 V002 |R—ZR 1 4,750
5 | v005S |/\ELtEvk 1 4,980 ARl N\UR)L, BiitE
6 | V004S |HAK# (24-148) 148 2,780 | Vv004;2{&
7 W182 |HARERfTARILE (M8 x 25) 2 150
8 WCO08 |HARE{FF vk (M8) 2 150
9 VLO3 |k & 1 2,080
10 VL04 [T #8 2 2,080
11 W263 | LETHEEMFALZE/MIL  (M6X16) 6 150
12 | WG06 |[EtamES (6) 4 150
13 JL—LEFRANARILE (M8 X 35) 1 150
14 | wco8 |AR&EFvk (M8) 1 150




INATINAR
INMMTINMR V1, V4

BHH

2024/2/8

Vi
X% | HRES m A e | EEHM W =
1 @vi01 IL-LF
2 V100S |7L—L&IvItvbk () @V107 7w 1= 6,510
3 BVLI11 ¢k
4 V102 [R—ZX 1 4,750
5 V105S [/ \URILEvk 1 4,980 AL, NURIL, BRITE
6 V106S |HAK# (24 148) 148 2,780 V106: 2@
7 V103 |E th 1 1,620
8 V104 |F 2 1,620
9 HAR- EEERARAARILE (M8 X 40) 2 150
10 TEIMTAAAERILE (M8 x 50) 2 150
11 WCO08 |#HAK- ETFeEftHANAT v (M8) 4 150
12 FLU—LE{FANARILE (M8 X40) 1 150
13 WCO08 [TVt (M8) 1 150
V4
NE | HnES A HE | R =
1 @v401 IL-LF |
2 | V400S |[JL—L&Tv7tvk () @v407 vy | 1| 18,180
3 @Vv4ai1 &
4 V402 [R—X 17,790
5 V405S [\ Rtk 1 13,860 AL, NURIL, BRTE
6 V406S |[HAK# (24 148) 148 6,930 V406; 2{&
7 V403 |E th 1 3,930
8 V404 | 2 3,930
9 W004 | 4K BB ARAARILE (M10 X 40) 2 150
10 W104 | TEERFFRAARILE (M10 X 65) 2 150
11 WC10 |[A4F- ETF@EERFANAF YR (M10) 4 150
12 IL—LEFANRARILE  (M12X50) 1 150
13 WC12 [RfAaFvE (M12) 1 150




INATINAR EHA  2024/2/8
V2,V3
A
|
g //éf 7o
\D), = - —®
;g/////,
= @
= > /
\ A /
V2
HE | BRES m A = | 1ZHEEM W =
1 @DV201 JL-LEF
2 V200S |FL—L&IZvItyk ()  @QV207 Jvy 1=X | 10,890
3 BVv212 &
4 V202 |[R—ZR 1 10,630
5 V205S |[/\>KRILtEvk 1 7,860 o aRl. UKL, Bj{TE
6 V206S [HAKR# (27 148) 148 4,160 V206, V211 &14
7 V203 |[E #§ 1 2,080
8 V204 [T #8 2 2,080
9 HAF- LS RARARILE (M8 X 40) 3 150
10 W104 | TFEER{fAARARILE (M10 X 65) 2 150
11 WC08 |HAF- EEERFFRAAESTVE (M) 3 150
14 WC10 |FEEI{TRNET Y (M10) 2 150
12 JL—LEfTAARERILE (M12 X 45) 1 150
13 WC12 | vk (M12) 1 150
V3
HE | BRES m A HE | ZEE W =
1 @DV301 IL-LEF
2 V300S |[FL—AL&Ivotyk ()  @V207 Jvs 1| 12,740
3 @v212 t&
4 V302 [R—X 1 12,710
5 V305S [/ \UFRLtvk 1 9,710 ARl N\UR)L, BiftE
6 V306S |HAF#E (24-148) 148 5,550 V306, V311 &14
7 V303 |E & 1 2,440
8 V304 [T th 2 2,440
9 HAF- LI AARARILE (M8 X 40) 3 150
10 W104 |[TFEIR{MASARILE (M10 X 65) 2 150
11 WC08 [AA/F- ElEHRAAAF v (M8) 3 150
14 WC10 |[TFEERFMANRATYE (M10) 2 150
12 JL—LEfTAAAERILE (M12 x 45) 1 150
13 WC12 [RATvk (M12) 1 150




FAZUG RINATINAR FHHE  2024/2/8
VL1 (120LVL) . VO(120LV0)




SA=VGFBINATINMR EHHE  2024/2/8
VL1-L

X% | HRES A HE | ZHEEM W =
1 @DV101L 7L—LFR

2 | VL10S |ZL—L&Tyotvk (5R) @VL0T 799 1= 6,510

3 ®VL11 $&

4 VLO1 |R—X 1 13,860

5 | VLO5S |/\>RLtEvk 1 4,980 toaRal, A\URIL, BRitE
6 | VLO6S |HAK# (24-148) 148 2,780 | VLO6;2{E
7 W182 |AAFERAARARILE (M8 X 25) 2 150

8 WCO08 |HAREfTRAANAT VL (M8) 2 150

9 VL4 |[ZA4=> 5Lt t' 1 2,550

10 | VL4l [SA=FTF th 2 2,030

11 W263 |LETFEERGRAE/MMIL  (M6X16) 4 150

12 | WG06 |[EtamES (6) 4 150

13 IL—LETANRARILE (M8 % 35) 1 150

14 | wcos |RfEFvk (M8) 1 150

15 | VL13S |# — = 1z | 18,480

16 | VLIS |#£(B) 1 1,050

17 VL19 [#&(C) 1 1,050

18 | VL16 |2—>2s\wo)L 2 1,390

19 W104 |BIER{TFR/NARILE (M10 X 65) 3 150

20 | WGI10 [[FhaES (10) 3 150

21 WC10 |RET Yk (M10) 3 150

22 W162 [A<ERILE (M6 X 15) 2 150

VO-L

HE | BRES m A = | ZHEEM wm =
1 @DVo01 JL-LF

2 | vooos |ZL—4&TyoEvE (F) @voos vy | 1R 5,460

3 ®Vo11 &

4 V002 |[R—Z 1 4,750

5 | V005S |/\2RILtEvk 1 4,980 toARal, UKL, HRitE
6 | V004S |HAFK# (27 148) 148 2,780 | VO004;2{&
7 W182 |HARE{TAENARILE (M8 x 25) 2 150

8 WCO08 |HAFERfANRATVE (m8) 2 150

9 VLA0 |S14=25 L & 1 2,550

10 | V021 [SA=JTF th 2 2,030

11 W263 |ETFEERMFALZE/MIL  (M6X16) 4 150

12 | WG06 |[EtamkES (6) 4 150

13 JL—LEFRANRARILEL (M8 X 35) 1 150

14 | weCo08 |ARfFvk (M8) 1 150

22 W162 [ARARILE (M6 X 15) 2 150




SAZUGRINATINAR V1-L EHE  2024/2/8

V1-L

HE | BRES m & WE | 1ZEE m =
1 ®v101 IL-LFE

2 V100S |[FL—L&TvItvk (F) @vi07 vy | 1K 6,510

3 @VL11 &

4 V102 [R—2Z 1 4,750

5 | V105S |/\UR)Ltvk 1 4,980 AR, NURIL, BritE
6 | VLOBA |HAK#8 (27 148) 148 1,680

7 VL40 |54=2F L th 1 2,550

8 Vi21 |Z4=V0TF 2 1,620

9 W182 |#A K- EEERFTRANARILL (M8 X 25) 2 150

10 TEERTAAARILE (M8 x 70) 2 150

11 WC08 |fA/F-ETFEEFAANRAFTYE (M8) 4 150

12 TL—LEfTAARARILE (M8 x 40) 1 150

13 | wcos [Ra+vk (M8) 1 150

14 W162 |[RARILE (M6 x 15) 2 150




FAZVTRINATINA R

V2-L,V3-L

EHH

2024/2/8

V2—L
X% | HRES W A WE | 1ZEEM w =
1 @Dv201 IL-LEF
2 V200S |FL—L&TyotEvk (F) @v207 w45 | 1=X | 10,890
3 BV212 $&
4 V202 [R—X 1 10,630
5 V205S [/\UKRILtEvk 1 7,860 o84l N\UR)L, BiitE
6 V222S |HAF# (24148) 148 4,160 V222;21#
7 V220 [54= 45t & 1 1,390
8 V221 |SA= 5T & 2 2,010
9 W182 |AHAFEITRASARILE (M8 X 25) 2 150
10 TEITANARILE (M10 % 75) 2 150
11 WC08 |[AAFEfTRANET Y (M8) 2 150
12 JL—LEFRANRARILL  (M12X45) 1 150
13 WC12 |REFTVE (M12) 2 150
14 WC10 |[TFTEEIRFFBANRATYE (M10) 1 150
15 | W162 |[E@wEMANARILE (M6 X 15) 2 150
V3-L
X% | HRES A W2 | 1ZHEH M wm =
1 @DV301 JL-LF
2 V300S |FL—L&Tvotyk () V207 Jvs 12X | 12,740
3 @V212 &
4 V302 [R—X 1 12,710
5 V305S [/\URILtEvk 1 9,710 28Rl UKL, BRTE
6 V322S |HAF# (247 148) 148 3,220 V322;21&
7 V220 |54= 5L & 1 1,390
8 V321 |5A=VJTF 2 1,510
9 W182 |HAFBRfANRARILE (M8 X 25) 2 150
10 TETRAAARILE (M10 % 75) 2 150
11 WC08 |HARENAAAF VL (M8) 2 150
12 IL—LEFARARILE  (M12X45) 1 150
13 WC12 |REFVE (M12) 1 150
14 WC10 |THER{TANAT Y (M10) 2 150
15 w162 | EsER{t FARARILE (M6 X 15) 2 150




